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Measure the base quantities and some derived quantities using suitable measurement tools and record those measurements taking into

account significant figures and sdentific notation

As ex[alined in the textbook 15
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Identify the mathematical equations for linear, quadratic and inverse relations As shown in the graphs
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If you decrease y as the
value of x increases, the
slope will be negative
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The non-linear relationship : “x=adl e B3]l
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Example problem 1
Q10,11,12

I 5 Find slopes and intercepts of a position-time graph to analyze motion
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Apply the equations of motion for objects under free fall, to calculate the unknown parameters
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I 9 ) Apply the equations of motion for objects under free fall, to calculate the unknown parameters Q44,43 ) 77
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Apply the equations of motion for objects under free fall, to calculate the unknown parameters

Qa4, 43 77

A1) Be ey pediens aland! 3 Sla¥ ol 3,8 Wik 44
o) s D) die pdaae| Lpdaialyy 22,5 M/s 1bo
' 0¥ s Bgh Lyna 230
A el g 8,800 a1 Juai i) el iy oS 0
Tlgae bid
Talggl 3 3,800 sl o) o o5 D
b hid ol eyl el agasall 8,800 5 il Ipgali
vt pnnd)



BtFZmdglly . plociall pilucclly  Elacedl depally . ol knsya | Ln el Hpill pogally ddlecall ol dlilas goudeiy b
{F = ki = witf + (1/2)

245 m/s bt 1,5 i) i 1.:,,,...1,,1,.. 4 .28
il,]lul:.lﬂll.jll::l_ujmh.ﬁ,tuﬂ'ﬂ il pilcy

) L BIMS dn e L
vi=v, +2a.Ax W vi—v =2aAx [y, =4245m/s
- — . o |

—_— 21 s a= —42mf32'
— (18.3m/s5)* —(+24. SMISJ{J 099
v, =V, +at 2(-4.2m/s%) _1 /
-/ Ax =31.6m =232m vy =183m/s




SHT2) byl . plaiall plclly . Alasl dcpunlly . gl sgan o sl lgill gl iz 25y il s b

{xF = xi = vitF 4 [1/2)

ya 17 JSEI b gl Lad Jola Jo; paS, .29
calgeh \_ ,L.sﬁ".,.... i.:.,...,?j:,ll @s; 1) .1.;3':‘:" (“)i.ln.;;
sp—— ] ) adaat a aS .y 15.0 min .0 45 m/s il

8‘0-“0"'“33 v=45ms ‘:jl &gﬂw\b)lm.\pa“&!lhh‘t’wl
’ aie catyzy 90.0 s 5.0 0.050 m/s? jly b sy

LSS PN PR BES [ TTIP ORI TR 2 B TReR

g d §=vi=(457)(150

e §

I

¥
e

LT
+

'-..,‘

p—

——
By afe brabwmald




12 gl . il pluclly . Elacsll dtpuatly . ¥ anctgn ) Lo s gl posgally dstncall @ stas guss b

(xF = ki & witf 4 (172)

g > =~ — R - -

S Epalle oF oz B el . a,u,,,.nh-n...-.',, asts . 30
Hh“,.z.oorl\/szg.lg._.cbl_...‘j:”.}a_ﬂ
B N T dai o, IBO MY/Ss G100 o e , o o =N
aigs el —loaly V5 Ee I el te Salas 3 Eo ),
“MVJ!.:L‘J!U,S_..&.‘LOOMM“,..M
.J—J'uu)a..ég

——————

=] +2ald v, =0.0

1—2 |

A _ Y3~V |la=2.00m/s’
e 2a v, =18.0m/s

Ve =V, +at J B (18.0m/5)° —0.0 [Vz:=Y>=18.0m/

-2 . T — =1. i
vi=vi+2alax ) 77 2x2.00m/s £ =1.00mm
Ax = vt +—ar :




11 Explain the meaning of instantaneous position for an object in motion
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Apply the equations of motion for objects under free fall, to calculate the unknown parameters

Q4a7, 48

78
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7, 78
12 Apply the equations of motion for objects under free fall, to calculate the unknown parameters Q4a7, 48
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Apply the equations of motion for objects under free fall to calculate the unknown parameters
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13 Apply the equations of motion for objects under free fall to calculate the unknown parameters Q4az41 77

L) Lol diabaad) alliall Jod i) bl s ) 142
@ T, g il ] 3y

. + "f =v,t+at 4.0 5 so Ll igsud) i ol 13 oS .8
Coasll 1l M5 L)) bgau lus L b

) Vv, = 0.0+ (tQ.S[]m.." 5* )(4.05)

L] pe— |"
v, = +39m/ s

L

|

Ay =0.0+ %(igﬁ_gfaj [s° )(4.05):

Ay =+78m




14

Determine displacement using vector addition or subtraction In one dimenslon Solved example
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Caleulate the displaremeant as the arsa under the curve of a velacity-time graph Solved problem 3 _
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Canduct an experiment ta investigate an nhject's matinon by determining how patition, velocity, and accalaratinn change owver time Figure 4
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17 Describe the motion of an object under free fall during its rising and falling motion Figures 21,22 75, 76
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Define free fall and free fall acceleration

As explained in thextbook
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Define free fall and free fall acceleration As explained in thextbook
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Find slopes and intercepte of a position-time graph to analyze motion Solved problem 1 40
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Find slopes and intercepts of a position-time graph to analyze motion Solved problem 1
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Relate the slope of a velocity time graph to the average acceleration of the object in motion Figure 11
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Relate the slope of a velocity time graph to the average acceleration of the object in motion Figure 11
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Variable speed
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